

Η ΛΥΣΗ ΤΩΝ ΕΙΣΩΣΕΩΝ

	ΛΥΣΕΙΣ ΕΙΣΩΣΕΩΝ		
	1 ^Η ΛΥΣΗ	2 ^Η ΛΥΣΗ	3 ^Η ΛΥΣΗ
$74 + \xi + 22 = 110$	$\xi = 10$	$\xi = 14$	$\xi = 4$
$2,9 + @ + 4,5 = 8,8$	$@ = 1,8$	$@ = 1,45$	$@ = 1,4$
$87.099 + 6.001 + \beta = 100.000$	$\beta = 6.900$	$\beta = 7.900$	$\beta = 6.990$
$87,9 + \kappa + 11,1 = 100,6$	$\kappa = 1,5$	$\kappa = 1,6$	$\kappa = 2,6$
$\heartsuit + 45 + 75 + 50 = 200$	$\heartsuit = 45$	$\heartsuit = 35$	$\heartsuit = 30$
$\pi + 10,02 + 5,58 = 19$	$\pi = 3,4$	$\pi = 3,6$	$\pi = 3,5$
$999 + \varphi + 511 = 1.800$	$\varphi = 490$	$\varphi = 390$	$\varphi = 290$
$36,9 + \clubsuit + 54,9 = 135$	$\clubsuit = 43,2$	$\clubsuit = 43,6$	$\clubsuit = 42,2$
$9 + \theta + 17 = 50$	$\theta = 34$	$\theta = 24$	$\theta = 14$
$\omega + 4.580 + 720 = 6.500$	$\omega = 1.280$	$\omega = 1.250$	$\omega = 1.200$

Κάνω κλικ στη σωστή λύση που επαληθεύει την εξίσωση!!!